H & 0l & AHS B Ml A

20258 =0ilah LEHSIH MIZ

SA MBD
B Mlglo] oHEEOl SER NEWHEE
Sl CAl MEAD U MA2H (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NIE 1,548,555 1,365,967 182,588
= 119,000
== 36,308
Al 1,393,247
Ngel tEHOl 222 =R S 1,334,218 1,171,550 162,668
= 119,000
< 36,308
Al 1,178,910
Sl AN Y MR 336,699 170,349 166,350
He3sl ZECLHMSUHE 2 (ME D) 125,100 0 125,100
201 er23 | 97,400 0 97,400
01 At2teltl 3,000 0 3,000
0 &3 2% =X 2 292¥ DSIM R
el 10,0002 %300 3,000
03 &A=& 94,400 0 94,400
U datss 82, ANESH 8+% S ME
50,0003 x45+22H 4,400
O dass52d 4= M
200,000 200 40,000
O datss& dAl & OIMIE S99
50,000,000 * 14 50,000
202 04| 2,000 2,000
01 2K 2,000 2,000
O M (B=) AFEESl o]
100,000& x5& x4 2,000
301 LEIE NS 25,700 25,700
11 dALEEIXIE S 25,700 25,700
0 S9s datSS8M N
1,000,000 x227H 22,000
O sS4 24 Ad
9,000 *300& 2,700
O gatetiAteteg ad] X2
1,000,000 *14] 1,000
CHRUEs E M2 211,599 170,349 41,250
201 er23| 69,793 69,259 534
01 At2teltl 39,000 37,150 1,850
0 get+=EH| 33,060
O XAl DXA 7 7,440
FSAl 93,0003 »402f A 3,720
SEHAl 93,0003 *302f A 2,790
- NS AIEA
93,0003 102 A 930
O XM g8 & 4% 8y 2Y
50,000& »302 1,500




2A:

AIE

B Mlglo] oHEEOl SER NEWHEE
Sl CAl MEAD U MA2H (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O 8h=0l 20l XAl 2XH HIZ
20,0002 x150% 3,000
O #IAREE Y
150,000& 122 1,800
O SASA 7Y 25,0003 #1502 A 3,750
O n&xZely A28 7Y 16,570
e 400,000 20K 8,000
JtEeIX 3,570,000 *1H 3,570
=L 4,000,000 1K 4,000
O s4H| 5,940
O HEAMN & UM X2 Fl
9,000 6 *110! 5,940
02 S3=gHl 30,793 32,109 A1,316
0 2322 2 HAl 24,793
O 4EE2 FHSAH XM (QHUHE) 2S *H
= 2,530 50021 1,265
O A== FHSA U=z &8 28
2,530 10021+ 123 3,036
O HSA HIAl, 22 o2 & fEs
2,530 50024« 123 15,180
O XA DA LS RES 5,312
gotes 4302 *10,000A 4,300
Soled 2,530 *4002 1,012
O A2 &BlI=AXsl 6,000
O dIold DTl sX2eld
500,000& * 122 6,000
202 04| 4,560 6,180 1,620
01 SLHoIH 4,560 6,180 1,620
O HSA Mg 2,160
O U 20,0002 +6E » 10! 1,200
O 22 80,0002 x6EH*x22 *13] 960
O MEeR g2 80,0002 x6H x2! 960
O NFs2E =3us
80,0002 x2& 22 +23] 640
O BIA 2= KA
20,0003 x2& »20 800
301 2N = 5,000 5,000
14 0Bt 2a3 5,000 5,000
O deEAMt 2= 50,0002 *100& 5,000
306 EH= 13,075 13,642 AB67
01 9= 13,075 13,642 AB67
O AgMA2 A
13,075,000 * 14| 13,075
308 AHXIEMSOIH 119,171 76,268 42,903
18 SIS0t HAS A 119,171 76,268 42,903




2A:

X XH -
o=

AIE
Mol o

Mol 92 UFEULE
el CHl READ 2 MAeY (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O XHMHXIZNE ESALS RIEFAIS I
119,171,000 *14] 119,171
AAl AR EEE & R0t 156,380 167,565 A11,185
AAS & HAGS 156,380 167,565 A11,185
201 Zet=3h] 163,820 164,285 A10,465
01 AtR2t2|HI 28,230 28,19% 35
0 &Bt~=SH| 23,280
O XA DXIA 2 19,530
THEEMI (=5, 212)
93,0003 *602 A 5,580
THARAI(EXI) 93,0003 *602 A 5,580
- NSAHA 93,0003 *652f A 6,045
KSXA A DXIA
93,0003 #2582 A 2,325
O XNZAH &7 2 &2 N
100,000 *7JH A %4 3] 2,800
O XA &% 2tz =2l
5002 *1,9000H 950
0 s4H| 4,950
O AIMl BtAIXtE &Y
9,000+ »110! 4,950
02 S3=gl 125,590 136,090 10,500
0O 2322 2 HAl 125,590
O XA DXA &5 282 125,590
gotes 4302 245,000A 105,350
S|ed 2,530 +8,0004 20,240
202 04t 2,560 3,280 AT20
01 =LHOHI 2,560 3,280 AT20
O AlAZ2tE Ds % A=ts
80,0002 x3E*x22 *23] 960
O MatMl(A2, 8, EXZ) BAKZ ZA
20,0003 28 »20 800
O AIAl TS O & K&
20,0003 x2& 20 800
22H0 NIt 281,952 265,644 16,308
M2l S&atel 208,277 189,255 19,022
201 er2 3| 29,032 30,950 21,918
01 AtR2t2|HI 14,140 16,350 22,210
0 &Bt+~=EH| 10,720
O Me= OXAM 7
93,0003 »408} A 3,720
O & dAl SA € /=S M
10,0003 *20 1 +53] 1,000
O HM2=2 NAES ot 82= RO
500 *2,0000H 1,000




SN HED
B Mlglo] OHEEOl YR NEWHES
c9l: EENQI Nlolseize COR
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
O M= MEN=ZH ==
10021450, 00021 5,000
0 294y 1,800
O JISAARIC 25| aA ST
100,000 *6& x33] 1,800
0 sAH| 1,620
O Hgatel & =2 MEfZAF
9,000 x2&*60 1,080
O HgZa &Y 9,000 x2&*30& 540
02 s3=gHl 9,092 14,600 A5,508
0 33222 2 HA 1,892
O 2% SII9H wa
2,580 %2,67021%28% 1,892
O A&EHIR ] 7.200
O HYSBESBIHTHLAIALY S
5 7.200,00021+14 7,200
03 A2 I 5,800 0 5,800
O Detate gtetsl &0t 5,800
O 224X 3,000,000 *14] 3,000
O dAIE2E 7Y 2,000,000 %14 2,000
O "lZ Xt 800,000 *14] 800
202 04| 3,600 4,240 AB40
01 =LHO LI 3,600 4,240 2640
O M2+ HaHa & N2 A4HS
80,0002 x2& 22 +22] 640
O M2+g gdst 2ot A HUZ
80,0002 =2 *x32 12| 480
O Ml S Hitetns
80,0002 x2EH*x22 +23] 640
O M2+ 2824 MHAIY E34
80,0003 x2H 3 480
O AS1 tHedE K==l
20,0002 x2EH+5 2 +23] 400
O A28 d&E 29 & u=s
80,0002 «3E*x2 L *23] 960
301 LELE NS 89,712 80,700 9,012
14 JIEt2 8= 89,712 80,700 9,012
O JEMEIIR=s Ed St
267,000, 000& *30% 80,100
O EdlS st X
5,0002%2,67021%72% 9,612
308 AFAIEHMSOIE 83,533 70,965 12,568
13 SI[2SOHe & EAS A 83,533 70,965 12,568
O N2 EEAIAE SX 22l
63,533,000 * 14| 63,533




2A:

B Mlglo] OHEEOl YR NEWHES
ol BEEQ AlYSYn2 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O DEAZIISH BHERAAY A2
Bl 20,000,000& » 14 20,000
405 KHoHFSHI 2,400 2,400
01 ML ESFSHI 2,400 2,400
0 +2=X 2322l 2
2,400,000 *1CH 2,400
KgMel=e Mgl 73,675 76,389 N2,714
201 2= 70,275 72,389 A2, 114
01 At22telt] 11,650 12,550 A900
0 get+=EH| 9,220
O M= MY etz & 2JR0LA =
Al =Y 3,000 ~402r A 3,720
O 242 HY SSa 242 & SiH 24
= 1,000& *1,00024 1,000
O Hel4e g2 Zi4sz
500,000 324 1,500
O Meil%e Mot ARF2l B0t Ta
100,000 1094 A+23] 2,000
O M= Mg NG et E22
=el 2 +2,0000H 1,000
O s4H| 2,430
O HMe=g Mg ge=d
9,000 *3& 0 2,430
02 S3=gl 58,625 59,839 A1,214
0O 2322 2 HAl 23,625
O M2+ MEotU=2 2s RER
4303 13,0004 *43] 22,360
O M2+ Mups SAM 25 fEs
2,530 #5002 1,265
O A2 &BlI=AXsl 35,000
O 8IS LF 2elAAE SKIE=H|
35,000,000 * 14! 35,000
202 04| 3,400 4,000 A600
01 SLHoIH 3,400 4,000 2600
O M2+g MY 9254 1,240
O U 20,0003 x2& » 15 600
O 22 80,0002 x2EH*x2 2 +23] 640
O A= Mg2e 22 & 35 4
80,0002 x2E *23] 320
O M2+ Mexted Hadx
20,0003 x2& » 15 600
O Mel=g DHHEA == 1,240
O 2 20,0003 »2& 152 600
O 22 80,0002 x2EH*x2 2 *23] 640
Dot DANEA EHE 2t 223,872 231,024 AT,152
= 36,308




2M: NAD
B Mlglo] OHEEOl SuR NEWHES
CHlr DM DAFLA BHE 22 (SHol: )
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
Al 187,564
MM &= 118,097 130,747 A 12,650
201 LEr2AH| 12,177 123,347 A 11,170
01 AtR2t2lbl 33,820 33,830 A10
[0 L8tx==H]| 26,620
O XA S5 XN 2L
93,000& %1408+ A 13,020
O MYAH LA He| &2 a0 JI=
100,000 1001 A *23] 2,000
O 28HAHEXE ==
2,000& *500H *33| 3,000
O 2FTA 20022 GHMl =22
150,000& *20AH 3,000
O AZIIE =2 A& HYEHE =%
= 2,000 x500H 1,000
O XA CIHY MEIIE HRsrE
100& *20,00021 2,000
O H2¢s HA HgHE =22
1,200&*50021 600
O DAL HEHE |0
500&! x4, 0000H 2,000
[] 24| 7,200
O HEAN g4
9,000& x5H*110 4,950
O XWSH A1 P2
9,000& x5 50 2,250
02 S324| 78,357 89,517 A 11,160
[ 222= 2 MAl 51,685
O EJ| HYDXIAN BtEs QER2
2, 1002 x6500H 1,365
O Sl NN & 2E2
2,530 *6,0000H 15,180
O S8Hs ANYA MY SS0OX ES 25,650
- 2HeH 430& *14,00021%33] 18,060
S)2H 2,530&*1,00021 33| 7,590
O XIEAl HYXt 281 M DXIA 2
= 22021 *3,00021%63] 3,960
O ARSAIZAIES SHUHAIAE MBS
45,000& x 128 540
O Hgxe Hamdx| SUHE M3l
50,0002 x7CH* 128 4,200
O s AX| X2 790
- NS XA 600,000 = 1CH 600
- XS AR 50,000 *1CH 50
BRIMLRLD
70,000& *1CH*23] 140
O AIEEHIR XY 21,672




A NE
Nlel

) +

o

{0
J
Of

2 A=ME

22 Mol &22 X
CHolr Do DEFUX BHE 22l (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O KAl MExtE SXAAE S22l
572,0008* 122 6,864
O XAl Mg 2HHY X DX AIAE
=Xzl 600,000& * 122 7,200
O XAl MRt SXAAE 23N
JNE=E] 88,00021%33] &1 122 3,168
O HLRZ SYSSAAY ST B2
370,000 * 12 4,440
O Xbef - At 5,000
O MEHSE XX (RFRUH, FHISA
b, A222Hl) 5,000
SEX 5,000,000 1CH 5,000
202 04l 4,920 6,400 21,480
01 =LHA LI 4,920 6,400 1,480
O XA Mg == 4,920
O 2 20,0003 »5& 302 3,000
O 22 80,0002 *3E 2L *43] 1,920
303 Zaf= 1,000 1,000
01 Za= 1,000 1,000
O AgMeds Zas
1,000,000 %14 1,000
AHEE SAMEN d=(2X) 6,537 5,577 960
= 6,537
202 04l 6,537 5,577 960
= 6,537
01 2K 6,537 5,577 960
O NHEE TAMES 408
6,537,000 * 14 6,537
[ 6,537
MR S4E 2H(2X) 99,238 94,700 4,538
== 29,771
Al 69,467
101 e124d| 99,238 94,700 4,538
< 29,771
Al 69,467
M ORIMZZ2NSE S 99,238 94,700 4,538
O HAIXE SdE 29 22l
2,480,950 4H 102 99,238
= 29,771
Al 69,467
FEIIEE SHXZAF R A, Al 247,871 249,599 A1,728
= 119,000
Al 128,871
FEOIH EHIZA L ME, SA(ERX) 119,000 120,728 A1,728
= 119,000




SA MBI
HE: Mo OEEOl HPR NFEUAHS
s FEDE SEXRA R AE, SAl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 17,735 16,724 1,011
= 17,735
04 JIZtNZ2Z2 XS E 17,735 16,724 1,011
O JHEFEDHE ZAER EX02Y 17,735
O Jle3 80,2402 *124x1802 14,444
- 14,444
O F5=+¢ 80,2403 x1»34 2,729
= 2,729
O dxt=& 80,2403 x1H+7 562
= 562
201 er23y| 99,265 101,004 A1,739
= 99,265
01 At2telt] 99,265 101,004 A1,739
W=t 9,365
O 1L1IIFE HEFEIHH AS 442
6,690%%13,500= 90,315
= 90,315
O 6.1DIE HEFEIA BS =8
8,370 x150= 1,256
= 1,256
O HE=EIta 28 S5 MA
100,000 307 %12 3,000
= 3,000
O HE=EIt SHEEH MH
2,669,000 %13 2,669
= 2,669
O dameEss ¢
125,000& *92] 1,125
= 1,125
O s4H| 900
O WSS ZAL- &
9,000 »2& x50 900
= 900
202 04l 2,000 3,000 21,000
= 2,000
01 2K 2,000 3,000 21,000
0 JHE O A
20,0003 23 38! 1,520
= 1,520
O JHE==E0HE 29 € Ws &34
80,0002 x2H+3 480
= 480
FEORE SdXAF R &F, SAl 128,871 128,871 0
101 e124d| 20,774 19,590 1,184
04 JIZtN22 XS E 20,774 19,590 1,184




2 MED
B Ml2lo] oHEEOl SuR NEWHEE
CHel: EEOI SHTA Y AF, BA (o) @)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
[ HEFEIIE ZAIHR Bx012Y 20,774
O Jlez 80,2402 x1H 180 14,444
O =5=¢ 80,2403 *1H+34 2,729
O oxt==g 80,2403+ 1H 7 562
O e 3,039
HLEE 35,466,0802!*3.60/100 1,277
oIE| QT
1,276,780&%12.95/100 166
=20z 35,466,080% *4.50/100 1,5%6
201 LBr2| 106,097 107,281 A1,184
01 ArR222lt| 103,497 104,681 A1,184
W=t 00,737
O 1L1IIFE HEFEINH AS 442
6,690&+13,500% 90,315
O 6.171F HEZIIH A 222
8,370&*150% 1,256
O DI2Al ZSZSIA 3 222
1,000,000 *22] 2,000
O Hg==eD S2cH M
2,166,000 *13] 2,166
O JHgZe)ie 298 a4t M
100,000 *15JH 2 #23 3,000
O MogIgsl slomx Kol
2,000,000 14 2,000
O 2S=E 1,500
O XNLMaCRAS HFaxE
50,0003 *7 B 23| 700
O SSMIATAIFIRS AL
100,000&*8E * 13| 800
[ =4H| 1,260
O HEFEIA ELTARY
9,000& 2 70 1,260
2 S=29| 2,600 2,600 0
O 3322 2 HAl 2,600
O Ngxs S8 T2 O(HPUAP) X
2=t 2,600,000 *14] 2,600
202 Ot 2,000 2,000
01 =WO4 bl 2,000 2,000
] JHE=E0tA AL
20,000 x2H +33 1,520
O JHEFE01A 319 & HEE &4
80,0003 x2H*3*13] 480
NLASAH MRS EHl & 200X 73,914 72,629 1,285
NLASA 2ot 73,914 72,629 1,285
01 2l24dl 5,229 5134 9%
M IIRINZ2Z2XsSEs 5,229 5,134 %b




2A:

NIE
o orH

B Ml2lo] oHEEOl SuR NEWHEE
ool XILASH DAKE Bl L 2D (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O NLASM(BEAS) ADHH X 5,229
O Jlzs 80,2403 x2& 25 4,012
O =8=¢ 80,2403 x2H+5 803
O 4H=E8 414
A2 4,814,400 *3.60/100 174
IR
173,320&+12.95/100 23
=gl= 4,814,400&4.50/100 2177
201 =3 63,285 60,295 2,990
01 At22t2l] 23,355 23,365 A10
0 get+=EH] 19,845
O XA 2XA e 6,045
Al 93,0003 #5552 A 5,115
K A=Al 93,0003 %102 A 930
O g2 82 &= & 4,000
FOAl JHel2
100,000& x109H 2+12] 1,000
FEA AHHAE
100,000 *107H 2+ 13] 1,000
HOIXI L A=A
100,000 x109 2+12] 1,000
IHRIXI & A=Al
100,000& x109 2+12] 1,000
O g ot 2= MH 7,500
FOAl MHHAE 5002 *3,0000H 1,500
HOIX YA SA 5002 *2,0000H 1,000
HIX LA S A 500& %10,0000HK 5,000
O NLASH(BEAS) ADHH SHFHE
Hl &Xt= 1,300
F=H 100,000 *3CH 300
==l 300,000 2CH 600
S AL 200,000 *2CH 400
O NLASHM(BEAS) ADHEH 22
= 1,000,000& %12 1,000
0 sS4l 3,510
O F=CAN & NLASA DAIKE A
9,000 *x3& *130! 3,510
2 352484l 36,930 36,930 0
O 32323 % MAl 36,930
O FUA & NSA2SH 2NN 28 ¥
= 36,930
oteH 4303 *80,000A 34,400
s|se# 2,530&*1,0004 2,530
03 A= EHI 3,000 0 3,000
O 01 XEE ASHA AL WS 3,000




SA: AEL
= NS

Chel: MPASH DATZ ZHl Y LB (choy: @2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O ZAZ 150,002 *4AI2H2% 1,200
O E2802, 849 X S
1,800,0002 %14 1,800
202 04| 5,400 7,200 1,800
01 2LHA b 5,400 7,200 1,800
O =AM & XNYASH us ¥ HES
80,0002 x3& x5 x23] 2,400
O =AMl & XILASH BAIXE ZAH
20,0002 x3& 30 1,800
O =2A & XNEASAH A ol &
A== 20,0003 »3& x202 1,200
H=H0 NEE=s Set N=+=SU 13,530 14,740 A1,210
2= SHME A 13,530 14,740 A1,210
201 =3 9,450 9,340 110
01 AtR2t2lt] 7,120 7,010 110
0 get+=EH] 2,050
O XA HEZALA F0!
5,000& 70 350
O 8ol MSEA AAl F0I
1002 +7000H+ 105 700
O 8ol XAl 2t 222 K2
500 *2,0000H 1,000
O =2g=< 2,100
O XA doflda B4+
100,000 *7 & x3=| 2,100
0 sS4l 2,970
O MHAMSZEAL 9,000 x38 110 2,970
2 s5=4g4l 2,330 2,330 0
O 32323 % Al 2,330
O HRZAL SXIA & OXAN g5 QE= 2,330
ot eH 4302 +1,3004 559
s 2,530& 70021 1,771
202 04l 4,080 5,400 1,320
01 2LHoIH 4,080 5,400 1,320
O AR 2ZA 2,640
O 2 20,0003 x3& 20 1,200
O 22 80,0002 x22H *x32+33] 1,440
O MSEZAF SHEs] 2 32 EA
80,0002 x2H +33] 480
O dgLrs = 80,0002 x2H +63] 960
HH2AZHI(MED) 214,337 194,417 19,920
el 23 200,367 180,447 19,920
olIA2AEHI(MED) 200,367 180,447 19,920
101 e124d| 200,367 180,447 19,920




2A:

M HZYRAZHI(MEDL)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 &= 200,367 180,447 19,920
O =u=22s< 200,367
O Ale2RsE
12,844« 26 *50A1 2+ 122 200,367
=238l 13,970 13,970 0
JlE2ZHI(NEL) 13,970 13,970 0
201 2= 7,970 7,970 0
01 At22t2l] 7,970 7,970 0
0 get+=EH| 7,970
O #HEMRID 2RE 72 7,970
mA Bl 140,000 »1CH*32] 420
SADEY 250,000 *1CH*33 790
Zofzely &Y
400,000 «1CH*82] 3,200
diOIMERlH EU
300,000& %124 3,600
203 HR=AY] 4,800 4,800
MU FAZSLIFAI 4,800 4,800
O A& 400,000 12& 4,800
204 MR AH| 1,200 1,200
01 MG HP=HAHH| 1,200 1,200
O M3 100,000« 12& 1,200




